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DI =X 1 94, 582, 338
ps+ T = 1 38,611, 189
JEHI T 2 1 2,890, 440 | HRHI (WHBH) 9, 300 m3
+#b 3, 000m3LA b [EELE ;
FEHI T (ICT) =X 1 4,472,370 | HEHI (BYE5) (ICT) 9, 300 m3
+#b 3, 000m3LA b [EELE ;
Bt = 1 305,586 |+ (A1) 30 m3
2. 5mAT ;
B+ GRA ) 150 m3
2. 5mPL 4. OmARTi ;
R (A ) 8 m3
4. 0mPL E
Bt GRAL - BOH 7 m3
BT T (ICT) = 1 800, 377 | {LMFETE (8] 1:36) (ICT) 890 m2
VB = W R OWE = CRE L
P v T = 1 30, 142, 416 | B 1 =
B2 A couE
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
Vi L = 1 23, 528, 953
e+ T 2 1 1,900, 131 |FRIEY 1 X
HEL 1 2V
e 1 =
HBtHZ A couE
b T 1 X
0 Cadl- EHIRY £5T) ;
[V == = 1 21,628,822 |H5AH ¢ 1000[JF1000] 573 m2
$ 700~ ¢ 1300 18-8-40 (;&4F)
A EREL ¢ 1000 1 =
$ 700~ ¢ 1300 ;
5 A7 3 ¢ 1000 1 =
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¢ 700~ ¢ 1300 ;
JE ka3 -} 38 m3
(A%Y)
18-8-40 (B JF) ;
H Hi 67 m2
(G =)
T A bk t =10 ;
H Hi 5 m2
(g 1kavr)-1)
JERE A #ibk t =10 ;
PRI 8 T = 1 6, 421, 205
e+ T 2 1 596,861 |FRIEY 1 X
HEL 1 2V
L FETE 1 =X
(B E5)
BGHROE VP R OWE + e+
e 1 =
B2 A couE
b E 1 X
0 Cadl- EHIRY £5T) ;
BT 2 1 1,941,448 |av))-} 26 m3
18-5-40 (BJFB) —f¥FEA AEav)) - VEHEARME ;
T 1 2V
B AFE ¢ 1000[JE1000] 7 m2
6 700~ ¢ 1300 18-5-40 (;&47)
HAA JEM ¢ 1000 [J5£1000] 5 m2
6 700~ ¢ 1300 18-5-40 (;&47)
A EREL ¢ 1000 1 =
¢ 700~ ¢ 1300 ;
R A ¢ 1000 1 X
¢ 700~ ¢ 1300 ;
s 1 =X
LRy P
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M = 1,941, 448 |2/))-} 26 m3
18-5-40 (B JFB) —f¥FEA AEav)) - VEHEARME ;
I L i
A FE ¢ 1000 [JE1000] 7 m2
6 700~ ¢ 1300 18-5-40 (;&47)
A7 A ¢ 1000[J51000] 5 m2
$ 700~ ¢ 1300 18-5-40 (&)
AL ¢ 1000 1 =X
$ 700~ ¢ 1300 ;
A EN ¢ 1000 1 =X
$ 700~ ¢ 1300 ;
k) 1 =
TEFRy PME
M = 1,941, 448 |2/))-} 26 m3
18-5-40 (FIFB) — kg vy ) - MBI AaaE
P L i
A FE ¢ 1000 [JE1000] 7 m2
$ 700~ ¢ 1300 18-5-40 (;&47)
A7 A ¢ 1000[J51000] 5 m2
$ 700~ ¢ 1300 18-5-40 (;&47)
AL ¢ 1000 1 =X
$ 700~ ¢ 1300 ;
R A ¢ 1000 1 2
$ 700~ ¢ 1300 ;
k) 1 =
TEFR Yy PME
HEE L = 95, 557
REVEITUE LT = 59,619 |2v))-MEEWEEE L 7 m3
S e T ;
SER O T eV 35,938 | i 7 m3
vy )= hik (BEAR)
RISy 7 m3
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SN AL T =Y 148, 570
IEALBREE T = 148,570 | EE{E¥EER 10 B
FH - B
Ny (Je-751) 10 MRS
[LIF&0. 8m3 ;
A Y 25, 776, 864
TEHERKT 2 20,803,504 | TEEAEKRE 1 F2V
(4-1)
THEHERKxE 1 F2V
(4-2)
THEHERKxE 1 F2V
(7-1)
THEHEKxE 1 F2V
(7-2)
THEHERKxE 1 F2V
(7-3)
THEHERKxE 1 F2V
9)
be il 1 =
BAEITyvr-77 RC-40 HE 100mm ;
el 1 =
et AL TCONLE
b E 1 F2V
+rb G- ERIRY L&)
B EHT = 4,973,360 | ZZiEAAEEHE 332 AH
[ERANE Xy = 94, 582, 338
HiE = 24, 479, 300
BISTI S = 16, 799, 300
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Hefif & 2 1 15, 166, 774 | MRS 1 =

[ERiS 1 2

R IA S 1 =

TR 1 =

HeffrE sy = 1 687,526 | {R5FEHE(ICT) 1 =

YATLIE 2 (ICT) 1 F2V

ICTIE RS EH 1 2V
BGRESGESE (5 L) = 1 945, 000
B (FEEHL) = 1 7, 680, 000
T = 1 119, 061, 638
Bl gy 2 1 32, 063, 000
T =5l = 1 151, 124, 638
— R A 2 1 24, 535, 362
TS 2 1 175, 660, 000
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